To Guthrie Junior High Students, Parents, & Guardians,

The 8" grade, Pre-Algebra, curriculum is established by the Oklahoma Academic Standards for
Mathematics. Each Proficiency Scale and every activity and assessment we completed this
school year can be found as a portion of one or more of the standards. In our planning of the
course work for the school year, we organized our time to teach, practice and assess each of
those standards in the first three quarter. This leaves the fourth nine-week period for an overall
review of the standards.

Therefore, all 8" grade students received instruction required by the State prior to our break. The
packet to follow is a basic review of each substandard. Each daily activity is labeled by date and
substandard being reviewed. Students will be familiar with the concepts but may need to use the
notes attached to the daily activity with the answers for assistance. There is also an 8" Grade
Mathematics Formula Sheet that will be a valuable resource throughout. Students are encouraged
to continue using the technology of a scientific calculator as we practiced using in our class
work.

The following websites are appropriate for aiding in review if needed. Some of these may have
been used in FLEX or extra assistance throughout the year. They are not essential to the success
but may be helpful.

Quality Free Online Learning Videos

https://mashupmath.com

https://www.mathantics.com

http://mathvids.com

https://www.khanacademy.org

https://www.pbslearningmedia.org

eHowEducation (via youtube)
Dylan Peters EDU (creative videos via youtube)

CrashCourse (via youtube type in math in the search menu)

GJHS 8t orade Mathematic Teachers

Adam Dement, Kristin Hooper, Shurlyn Maltz, & Audrey Rose
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Oklahoma State Testing Program
8™ Grade Mathematics Formula Sheet

UNIT CONVERSIONS

1foot =12 inches 1 pound = 16 ounces 1 cup = 8 fluid ounces
1vyard = 3 feet 1 ton = 2000 pounds 1 pint =2 cups

1 mile = 5280 feet 1 kilogram = 1000 grams 1 quart = 2 pints

1 mile = 1760 yards 1 gallon = 4 quarts

1 meter = 100 centimeters

1 meter = 1000 millimeters

Square A =5 Parallelogram A= bh
Rectangle A=lw Circle A =qr?
Triangle A= -;-bh Trapezoid A= %(bl + by)h

CIRCUMFERENCE

Circle C=mnd or C=2nur

VOLUME

Rectangular Prism V=Bh or V=Iwh Right Cylinder V =Bh or V=nr?h

SURFACE AREA

Rectangular Prism S=2B+Ph or S=2lw+2lh+ 2wh

Cylinder S = 2nrh + 2nr?

LINEAR EQUATIONS

Slope-intercept y=mx-+b Direct Variation y =kx
Slope formula m=2A
Xp—Xq1

d=rt Pythagorean Theorem a? + b? = ¢2

OKLAHOMA STATE DEPARTMENT OF

ye EDUCATION
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NAME

PA.A.2.1 and 2.2

4 | 6 8 | 10
35 | 45.| 55 | 65

This table represents points that
belong to a given line. What is the
equation of the line that passes
through the points on the table?

F y=5x+ 15

G y=10x

Hy=10x+5 "

J y=5x+65
A
IREEEpLE
: V|

<-¢od-x-1rl_‘ F }
Zd s

\ 4

@ Which of the following is the slope of the line graphed above?

A 52
B 2
c -2
3
p 2 ;
3
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X y
0 2
-3 0
-6 -2

@ Using the table above, what is the slope of the line which passes through
the points listed?

A 2
B 2
3
c 2
o -
3

@ The graph shows the hours a plane has been flying and the distance covered. Ifflying at a constant rate. what 1s
the airplane’s speed?

;1.‘
5000 ’
4300
4000 ¥
3300 -
3000 4
2500
2000 /ﬁ 5, 2300)
1500 f/ ! ]
1000 3. 13 SO)

500 |— &

Distance Clavered {mi)

0 12343567 828%10x

Travel Time (hr)

>

230 mph
460 mph

(o

450 mph
368 mph

o 0



NAME, Ké%/

PA.A.2.1 and 2.2

Wl
_Z
By 5 [ o
,6 S ,lﬁ"’ )5 .| 55 | 65
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' This table represents points that

belong to a given line. What is the

equation of the line that passes

through the points on the table?
y=5x+ 15

G y=10x

Hy=10x+5 -

J y=5x+65

« o backwards using e Slope
[ v get fo when k=0 baakc
e Y- value will repreSent |

,,W\e;:' [}}" t [WV Cg/p‘é‘,
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@ Which of the following is the slope of the line graphed above?

><-2

o Domembar posifive Slopes
éJD up + Fhe tf/'\gh/t‘
. Count bedweenhy fwo
polnfs ontine fine -
se
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Ay _ -2 .

A X =3

-5
=5 §

>,7—
) -2

oNN

&les|o|*

N

:; .
O Using the table above, what is the slope of the line which passes through
the points listed?

A 2
@ 3
3
c 2
p -2
3

The graph shows the hours a plane has been flying and the distance covered. Tfflying at a constant rate, what is

the airplane’s speed?

W
5000‘l

SO P [N ¥ o R V.0

3000 z

000 His, 2300) X;'X, 6 — D 2_

1500
1000
500 |-
sl o
0 12343678 0910x

N

Distance Covered {mi)

Travel Time (hr)

sz o 60
- C. 450 mph X1 ) (Ji Xa) Ya

D. 368 mph



il |1

NAME

PA.A.2.3

@ Which graph represents a line with a slope of%?

®

A

B

A

B

A

Y
O

A line passes through the points (3 , 4) and (-2, 5). What is the slope of the

line?
A
B

Cc

Find the slope of the line which passes through the given points.

s
7
)
)
7
IS <
=R > === >
2 3
Z
A PN
2

Which of the following is the slope of the line graphed above?

-2

2
2

Y

A
A\

v

A 2

1 |
B 3
c 1
-D =2

What is the slope of the line that
passes through the points (3, 6) and
(-1, -2)?

@ (=2,1:(-1,-2) © (-13);(2,4)

@ (7,-1);(2,3) (5,-8),(-3,3)

Maltz 2017



@ Which table demonstrates a proportional relationship between x and 17

NEHEEE
v |16 |18 20| 22]
577191
B_ x !
v |30 [49 [72 99
. 517719 11
C_ X
- v |35(49 (63 |77

@ Which table demonstrates a proportional relationship between x and v7?

x|2]5]8 11
A

v |16 [40 |64 |88

x| 2] 5] 811
B.

v |14 | 40 [ 72 |110

x]2]5]8[11
C.

v |2 1024 4

@ Which table demonstrates a proportional relationship between x and y?

x|3]61]9 12
A

] 12 (27 [48
g [x[3]6]9 1
"y 275281 108

x | 3] 69|12
C.

v |24 5490 [132

@ Which graph demonstrates a proportional relationship between x and ¥?

A g B. C a
1] ITT]
B (7. 12) ® [, n (s, D]
10 " 10
s : s
6 6 Li.
. 61 (5. 6
4 _ﬁ.:’., 3) 2.6 \ , )
= g _! =
. ! ) 2
F
.05 2 6 s 012 x

| -
00" 5" 6 5 100 x (0. 0) 531012? 2 4

N
=
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NAME Ké %/
PA.A.2.3

> up totwe rig) !
@ Which graph represents a line with a slope of ? +0 VI q /l-l' :

[N

A _vﬂSCr

A
Y
A
Y

c D
v v
Xp Y Xaya
A line passes through the points (3 , 4) and (-2, 5). What is the slope of the
line?
A 5 . ; ’ s
B 3 MQ_H_L_ G ‘__5_j_ —

c - ‘XJ'X; ~4 -3 :%

T
= upl B se
oLer SHHE LR Juiie
@ :

Which of the following is the slope of the line graphed above?

A 2
B 2
2

g =
3

_J’ What is the slope of the line that

passes through the points (3, 6) and

_ (—1&—2)? X1 9i

@\‘ 2.‘11 e

1 ==l - |
B 3 : I; = _ﬁ{/ =7
1 =3

¢ - 1

D -2

Find the slope of the line which passes through the given poinits.’

@ (-2,1):(-1-2)

<3

@ (-1,3);(2,4) L’l _ z

Lh=5
2 -
(5,-8);(~3,3)
_é;::x_. ‘l!a’
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@ Which table demonstrates a proportional relationship between x and 17

5T WfOVLl(/é 05/%7[70775/’ij

Ln

/
16 |18 |20 [ 22

: d&qumsWJfC 2guivaly
B a0 a7 [ 7\[(/{7_@5 Cwnémﬁ+0ﬂ£//‘”’/70ﬁw@

QEounny . are Dipuar (sfaight)
22-t.2:1 = (7) . vﬂmmuéj (O)(D Oh

t0) Which table demonstrates a proporiional relationship betweefl x and

@;1264068411 “; L- bj Wwwomg/“wpl

x

A

= n

88

B x | 2 5 8 | 11

) v |14 | 40 | 72 |110
o x|21]5] 811
v |2 (1024 |44

@ ‘Which table demonstrates a proportional relationship between x and y?

<3169 12 12 4 27 2 4
X Fr224 45

v |3 [12]27 |48

@x36912;7’5i/‘L/0g

¥ [27 | 34|81 |108| 2 (o q =12
x| 3|69 |12

C.
v | 24|54 |90 132

| s Hroagi(0,0)!
@ Which graph demonstrates a proportional relationship between x and y? \,uhl chn one 4 o ag

\ozCQLM ey aure al Linear.
vA

b
LT T [
. (7. 12] , e[S 2 'Lf_s, Ry
10 : 10 o 10
8 5 g
6 6
| 61 (5. 6
4 ";:7 . 2. 6 4
3 1 , 3
i
.07 5 % 6 s 0 12 *

) -
@057 6 5 1012 x (0. 0) s s 10 12 x

8}
(P
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April [5%

Name Date

1 Practice by Objective
ol P A 2.9 and 2.5

1 ' If the slope of y = 3x — 2 is 2 The coordinate plane below
changed to —1, which graph ; shows the graph of the equation
represents the new equation? y=—4x 4+ 5.

A Ay
s/ iy
2 o\
iH 2
A2 OF 129 4X ~4—3-2 [O] 1\2 3 4%
yi A
VTN
B &y :
M Which statement shows the
5 effect of changing the slope of
1 the line y = —4x + 5 to 0?
~4-3-ENOL 1 2 3 X A The new line will intersect the
- x-axis at (5, 0) and be parallel
?4 to the y-axis.
: ' B The new line will intersect the
C[ W y-axis at (0, 0) and be parallel
3 to the x-axis.
3 C The new line will intersect the
x-axis at (0, 0) and be parallel
—4-3-2 2 3 4x .
. to the y-axis.
Z§ D The new line will intersect the
= y-axis at (0, 5) and be parallel
to the x-axis.
2
1
—4-3-2 |0 3 4x
"

Mastering the OCCT, Grade 8 15



Name

Date

8.1.1.c (continued)

Practice by Objective

3 Which graph shows the effect of
changing the y-intercept in the

equationy = —g-x —5t02?

A y

|
&
L

NK‘L Ol v >
N

o

—4-3=

CLLbTol L s

S Do
N

Which graph represents the
equation y = —2x + 4 if the
y-intercept is changed to 27

A pY

435 |0| N23 4x

<
CLLL o L%

O] = w

—4-3-2

|
W R

16 Mastering the OCCT, Grade 8
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Apei | |92
- K/é/%/ Date
™. Practice by Objective
; ’ 8.1.1.c PAA. 204and 2.5 .

€13

< Iftheslopeofy=3x—2is : 2 ' The coordinate plane below
changed to —1, which graph shows the graph of the equation
represents the new equation? y=—4x+5.
A y
4 i
; s\
2
11 ]
.- W} ~d-f JOF T ¢ J 4% T4 [0 1\2 3 4%
o :
b 1 =
(M LY A N
(B | |
; Which statement shows the
e > effect of changing the slope of
(o 1 the line y = —4x + 5 to 0?
l NS —ISENDL 1.2 34X A The new line will intersect the
X 3 x-axis at (5, 0) and be parallel
4 to the y-axis.
: - B The new line will intersect the
£ C[ i y-axis at (0, 0) and be parallel
.g 3 to the x-axis.
£ f C The new line will intersect the
Q -
= ——i B x-axis at (Q, 0) and be parallel
s ) to the y-axis.
g 3 e new line will intersect the
& 4 y-axis at (0, 5) and be parallel
s to the x-axis.
RRR Hore fore The Mol -
3 . .
E 432 |0 3 4x v@%& 6(]{70]/\ W()w@[( b@
s | g = 0x19
2 o Lo :
S

_Changirg o dope Gtlects: = o —fuis st inbsect
e divect] on ’ fiu tj—cu'/‘sa‘z‘ 5,
¢ W\ée — mh V\PSS (/[QOVIW\W ﬂ[Vw/)

—
V‘u/tr\ Mastering the OCCT, Grade 8 15
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Name Date

Practice by Objective

8.1.1.c (continued)

:% Which graph shows the effect of 4 Which graph represents the
changing the y-intercept in the equation y = —2x + 4 if the .
equation’y = 3% — 5027 | éi\ntercept is changed to 2? h-(jy» /
A Ny
. A Sy ; \/ ; W‘\) /
. i 4 y INL
- \m’\, 2 Vl [ . )\
432 |0| \2 3 4 o
T\Q}DQ{(M — 864 |0O] 2/4 6 8X B E 2 (f’ @U('r
LY 1A o . |
v —4 /?.
g = 8 | =
=73 b 2 M=y
B y B Y4
=% : ] p=2
5 3 |
434 (0] 123 4x
ﬁ/)/_ —4-3-=2 |0] 1 %3 4x 74 ¥
b= e
-3 4
—4 1
|
C o
c i 9 2
4 3 [E]
o 2 5
414 1 Q
—43-2 [O] 1 3 4X g
—8—8—-4//0 2 46 8X - %
) g
= -3 2
6 5
¥ o l E
. : 7 z
D Ry o g‘ g
6|1/ 2 2
af-A ] g
2 432 |p| 123 4x g
—86-4 |p| 2 46 8x JLz ;
> [ -
/g ; =
| 4 18 I E

16 Mastering the OCCT, Grade 8 g { l\ m CLV\ L[W



(\S ) Which of the following statements describes the change that
in the y-intercept of the graph of y=x when it changes to y =

3

©  What happens to the slope and y-intercept of y - x when the equation ,

!

Apci| |5

NAME_

TRl

What happens to the y-intercept of y = x when the function changes to

V=Xxi+4?

A~ The y-intercept does not change,

B The y-intercept charges from 0 to 4.

C The y-intercept changes from 0 to =4,

D The y-intercept becomes equal ko the X-intercept,

A

B
C
D

The y-intercept changes from -7 to 0.
The y-intercept changes from 0 to -7.
The y-intercept changes from 0 to 7.

The y-intercept does not change.

is occurring
X=77%

T - —— e —

changesto y - 2x - 67

A

B
C
D

The slope changes to 2, and the y-intercept changes to 6.

The slope changes to -6, and the y-intercept changes to 2.
The slope changes to 2, and the y-intercept changes to —6.

The slope changes to -6, and the y-intercept changes to -2,

Maftz 2017



_Slope ’/VH@I;”CVJJ'[ okl » [
%:fm K+b<\(4///’h‘€/\w{’ /4/7;7/){

S| oL NAME,_ K 4/4//
PAA.2.4 U

What happens to the y-intercept of y - x when the function changes to ‘
V=Xxid? |

A~ The y-intercept does not change. movés Wp ‘% (;m}-fj
' The y-intercept changes from 0 to 4, o + chang &
| Q// Inter ap 445

C  The y-intercept changes from 0 to -4,

Ot

D The y-intercept becomes equal ko the X-intercept,

\3; /) Which of the following statements describes the change that is occurring
in the y-intercept of the graph of y = x when it changes to y=x-7%

A The y-intercept changes from -7 to 0.

@ The y-intercept changes from 0 to -7.

C The y-intercept changes from 0 to 7.

D The y-intercept does not change.

"~ What happens to the slope and y-intercept of ¥y = x when the equation
.~ changesto y - 2x - 6? !

A The slope changes to 2, and the y-intercept changes to 6.
B The slope changes to -6, and the y-intercept changes to 2.
@ The slope changes to 2, and the y-intercept changes to —6.

D The slope changes to =6, and the y-intercept changes to -2,

Maltz 2017



April | s

NAME,

PA.A.3.1 & 3.2

=7

(

) Evaluate: r—f+2 if x=-—8 [&] -2 [B]

<

-6 [C] -3 D] 6

@) Bualuate: —3x+7x if x=2 [A] -8  [B] 8 [C] =20 [D] 1

@ Which property does the following
equation represent?

@ Which equation demonstrates the
associative property of addition?

A 2+x=x+2

B 5+0=5

C B+(=2)+6=3+(-2+06)
D 5(x—9)=5x—45

2:(3—2y)=6—4y

W

associative
commutative

distributive

O a w

identity

Maltz 2017



%)p//[ ™
NAME KZ%
subshiii ;o PA-A3.1 & 3.2
\ m the viadue of X
(1) Evatuate: Z+2 if x= -3 O [B] -6 o] —~3 [D] &
’“’#}«—«4+£— - d

@ Evaluate: — sz [4] -8 @ 8 [C] -20 [D] 1
“3(2)+7(2) (

@ Which property does the following

@ Which equation demonstrates the
: equation represent?

associative property of addition?
A 2+ x=x+2 Conmuitih ve poparty
B 5+0=5 add,hud,d,@mﬂl

O B+(E2N+6=3+(-2+6) ' A assoc1‘auve
D 5(x—9)=5x—45 d‘ﬁr,bWw (W(Wtj B commutative

distributive

D identity

2:3-2)=6—4%

Distributive Property
albtc) = ab+tac orq(x-2)=4x-¢
Ass oo aft ve Property
q+(brc)= (a+rb) +¢ or 2H(3+4) Q)

Lo mmutative Property
Q_f,b: b—f&(/ O 2+5= D4 D wmeitz2017




,A([Drf [ ]

NAME

PA.A.4.1

Solve:

0

5 13 5 13

-9 +9+1lx=-4 A == B] x=—-— C =_= T e
x x [A] x=3 (B] x > €] x 5 D] = 5
4 ‘ 4

3x=2x+4 [A] x=4 [B] ng [C] x=-4 [D] x=-v
—-8x+11+10x+15=4 [A] x=11 [B] x=15 [C] x=-15 [D] x=-11

12
6x—9=5x-3 [A] x=6 B] x=—- [C] x=1 [D] x=-6

11

Maltz 2017



/Wf/ / / é?ﬁ

NAME_ Ké%
PA.A.4.1

Solve:

@ —9x+9+11x=-4 [A] x=§ x:—% [C] x:-—g— D] x=12—3
@ 3x=2x+4 x=4 [B] x=% ‘ [C] x=-4 [D] x=—%

@ —8x+11+10x+15=4 [A] x=11 [B] x=15 [C] x=+=1§ x=—11
12
6x—9=5x-3 @,\::6 [B] x=——ﬁ [C] x=1 [D] x=-6

@
® {419 €L0= 4 condire likesorms
X T ﬁ& - = i Use (nVerse @p@m/ﬁmd
A rsolak e variable.

2x=-12
g 2
X =42
2
A% = WX +4  Vlriables o one Slde
e FR and cons{ants on the
”’.,Tlfﬁ OHnar s inverse pperthons 1o
X = TsolaAt Hne Vourta o e

@ €8+ Kox)rl7=7 o |
(;w Q Lombi g e fermsThen (ise
.;\5351_:2% lnerse oplntitons 1o 1solar
ax=-22 4w Varighle. |
A L,
X =~ \ |
@ (ﬂ% “6] C%\')f /3 \)CU"\ Cbbuj ow oneg §/Oé@ aMC[ Maltz 2017
56X 5% (olgdnits on e otner. U Zc&
X932 inerse oplirghions o 15016
+9 . "
=7 e Varidhle,




Aol | Vil

Date

3 ‘.‘»’ G

8.2.2.c

», Practice by Objective

What is the value of the
expression?

(9 — 3)>—200 =8

A —20.5
B —13
Cc 11

D 47

What is the value of the
expression?

27 + (54 + (=3)%)

A 25
B 21
C -6
D -9

What is the value of the

expression?

48 -2+ 42— (6+2) X3

A 108
B 72
C 16
D 8

PA, A2

4 ! What is the value of the
expression?

13 — (—10)2 = (5 x 4)

A -3
B 12
C 135
D 29

5 . What is the value of the
expression? '

9 —12+0272x5

A0
B 6
C 78
DY

‘6 | What is the value of the
expression?

1 1
—_— 2= 4 =
(32 4)x +20+5

A5
B 6
)
D 10

22 Mastering the OCCT, Grade 8
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e WG4

Date

Practice by Objective
Pa, ASe ] m(ﬁmfm@r%wﬁ

WWCMW”

‘ 1 7 What is the value of the
expression?

O—372—200+8

A —20.5
B —13
11
47:

2 ' What is the value of the
expression?

27 + (54 + (=3)%)

@25
B 21
c —6
D -9

What is the valize of the
expression?

48 = 2 4+ 42 —

6+2)x3

A 108
B 72

@16

6

What is the value of the
expression?
13 — (—10)2 = (5 x 4)
-3
12
C 135
D 29
5 " What is the value of the
expression? '
(9 —12+02>x5°
A0 |
B 6
C 178
@
What is the value of the
expression?
1 1
2 _2=|x4+20=
( : 4) X 4+20 %5
A5
B 6
D 10

22 Mastering the OCCT, Grade 8
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